
Using Algebra in Word Problems (2)

STEPS: 1. INTRODUCE A VARIABLE USING A “LET” STATEMENT. 

2. WRITE AN EXPRESSION FOR THE OTHER PIECE(S) OF INFORMATION

3. WRITE AN EQUATION INVOLVING THE PIECES OF INFORMATION

4. SOLVE YOUR EQUATION FROM 3

5. WRITE A CONCLUDING STATEMENT.


PART A – Write an expression for each description Do verbally page 226 #1 and 2

PART B – Answer the questions using the steps above.
1. Sarah is 17 years older than Allison, and their ages add to 65. How old are they?


2. Katherine is 2 years older than Christine. The sum of their ages is 72. How old is each girl?


3. The length of a rectangle is triple its width. The perimeter of the rectangle is 40 cm. What are the length and width?


4. The sum of two consecutive integers is 47. What are the integers?


5. a) Two consecutive integers add to 1453. What are they?
b) Three consecutive even integers add to 258. What are they?


6. Together, Spot and Jessie have a mass of 72 kg. Spot’s mass is 4 kg less than Jessie’s mass. What is each dog’s mass?


7. In a right angle triangle, one angle is (of course) 90°. As for the other two angles, one is 17° more than the other. What are the angles?


8. The sum of three consecutive EVEN integers is 114. What are the integers?


9. The length of a rectangle is 3 more than twice its width. The perimeter is 54 cm. What are the length and width?


10. An isosceles triangle has 2 short sides and 1 long side. The short sides are 5 cm longer than half the longer side. The perimeter of the triangle is 66 cm. How long are the sides? 


11. Sam weighs 5 kg more than Alfonso, while Sams older brother Max weighs 3 kg less than Sams weight tripled. Together the three boys weigh 42 kg. How much does each boy weigh?


12. I have nickels and quarters in my pocket, which together have a value of $6.05. The number of nickels I have is twice the number of quarters plus two. How many nickels and quarters do I have?


13. A store sells shirts and hats. Hats cost $3 more than shirts. You buy 4 hats and 3 shirts and the total cost is $103. How much do shirts and hats cost?


14. The weight of a lioness is six times the weight of her female cub and four times the weight of her male cub. If the difference between the weights of the male and female cub is 14 kg, what is the weight of the lioness, in kg?

Answers. 1. 24, 41	2. 35, 37	3. 15 cm, 5 cm		4. 23, 24	5. a) 726, 727	b) 84, 86, 88�6. 34 kg, 38 kg	7. 36.5, 53.5	8. 36, 38, 40	9. 8 cm, 19 cm		10. 28 cm, 19 cm, 19 cm


11. 10 kg, 5 kg, 27 kg	12. 17q, 36n	13. $13, $16	14. 168 kg








